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Bug 2.1

Either re-interrupt this method or rethrow the "InterruptedException”

21 Either re-interrupt this method or rethrow the “InterruptedException”.

} esteh (InterruptedException &) { G U I

Either re-intarrupt this method or rethrow the "InterruptedException™. Why is this an msue? HEH L1723 % trT {
¥ Bug~ @ Maior= O Open~ TTEX BHE » 15min efion IHE W Notags =
Thread.sleep{ millis: 18);
Thread 4#Z InteruppedException2 CHA| 2 % 9/Ch } catch (InterruptedException e) {
Thread Interrupted Exception®! 22, Error?} 448l S If 248| Thread?t S| & Thread.currentThread() . interrupt();
ol & g #a sk e.printStackTrace();
Thread.current Thread().interrupt(); //Z=7} 1

watchGU| java Line 1723, Buzzer java Line 45, 69
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Bug 2.1

Either re-interrupt this method or rethrow the "InterruptedException”

/RF\A

tryd{
Thread.sleep( millis: 1080);

} catch(InterruptedException e)d{

System.ovt.println("5leep interrupted");

ge.printStackTrace();
| Thread.currentThread() .interrupt();

r

public veid beepBuzzer() {
int 1 = 68;
for(i=@; i < BEEPCOUNT && buzzerOn; i++){
if(buzzerOn == false)
return;

EETPEMENE S - NPT E ST C T S TTM L V- NS LY W0 i
r4 L T

try {
Thread.sleep( millis: 1808); // introduce delay
} catch (InterruptedException e) {
System.out.println("Sleep interrupted");
e.printStackTrace();

Thread.currentThread().interrupt();
1r

}

Try,Catch= 0| A

Thread Interrupted Exception®! &4
<, Error/t 2451 RS O

St Al S| Thread7f Sl 2 el

Thread.currentThread().interrupt();
=7t




Bug Ly The return value of "plusYears" must be used

if(returnTime. getYear()>9999) {/ /9999 N &2 FF o RN A

The return value of "plusYears™ must be used. Wivy = this an issue? 162 He 152 %
¥ Bug~ @ Major» O Open~ WYX G& » 10mineffon SHE= % Motags >

plusYearsOf CHSH 2| 10| AFEE|IX| 3 QUCH
Ex returnTime.plusYears(10eee);

= LocalDateTime time = returnTime.plusYears(-1080@);
WorldTime.java line 52,55
CalorieCheck_Pane java 33,47,128

if(returnTime.getYear()>9999) {//99990/4|2F=
Fetur‘nTimel returnTime.plusYears(-1080a0);
—

1o
=
A
]
n
i

}
else if(returnTime.getYear()<0) {// 5252 999025
|r‘etur‘nTime!= returnTime.plusYears(18080);
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CO d e Sm el I 3 . 1 Add the "@Override" annotation above this method signature

Alarm_Pane java line 34 , 48 , 134
SetMode_Pane java 31,45,114
Stopwatch_Pane.java 31,45,125
TimeKeeping_Pane.java 33,47.133
Timer_Pane.java 32,46,127
WorldTime_Pane.java 31,45,126 , 200,208,211

ModeManager.java 48

Al
v

public void paintComponent(Graphics g){
super.paintComponent(g);

Graphics2D g2 = (Graphics2D)g;

RenderingHints qualityHints = new RenderingHints(RenderingHints.KEY ANTIALIASING, RenderingHints.VALUE ANTIALIAS ON);
qualityHints.put(RenderingHints.KEY RENDERING, RenderingHints.VALUE RENDER QUALITY);

g2.setRenderingHints (qualityHints);

g2.setStroke(new BasicStroke( width: 3));

g2.drawRoundRect( x 2, . 2, width: this.getWidth()-5, height this.getHeight()-5, arcWidth: 48, arcHeight 4@);

@verride
public void paintComponent(Graphics g){
super.paintComponent(g);

Graphics2D g2 = (Graphics2D)g;

RenderingHints qualityHints = new RenderingHints(RenderingHints.KEY _ANTIALTIASING, RenderingHints.VALUE ANTIALIAS_ON);
qualityHints.put(RenderingHints.KEY_RENMDERING, RenderingHints.VALUE_RENDER_QUALITY);
g2.setRenderingHints(qualityHints);

g2.setStroke(new BasicStroke( width: 3));

g2.drawRoundRect( x: 2, 1y 2, width: this.getWidth()-5, height: this.getHeight()-5, arcWidth: 4@, arcHeight 4@);




COde Sm eII 32 This block of commented-out lines of code should be removed

289 nameLabel.setBounds( x 12, y 1@, width: 94, height: 15); 288

2 289 nameLabel.setBounds( x 12, y 1@, width: 94, height 15);

201 /| watehBodypane.setlocation(4s, 38); 90

292 201 adjustB. setSize(BUTTON_WIDTH, BUTTON_HEIGHT);

293 adjustB.setSize(BUTTON_WIDTH, BUTTON_HETGHT); 292 adjustB.setlocation( ¥ watchBodyPane.getlocation().x - BUTTON WIDTH, Y watchBodyPane.getlocation().y + 55);
204

adjust8.setlocation( i watchBodyPane.getlocation().x - BUTTON_WIDTH, y: watchBodyPane.getlocation().y + 55); - dusts, setoack d(Color .5LACK)
293 adjusts. setBackground(Color.. H

205 adjusts. setBackground(Color. BLACK) ;

26 isActivated=true;

27 //Thread ‘ isActivated=true;
1
28 //alarnThread = new AlarmThread(“alarnThread");

watchGUI java 291

Alarm.java 28 rLI _9_0" —
= HA —

al
1z

z
>

CalorieCheck.java 7
CalorieCheck.java 149 , 168
ModeManager.java 64,68,71
Tick.java 73

I
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COde Sm e” 33 This case's code block is the same as the block for the case

e —
getTimeKeepingPane() .getCursorlabel ()[5]-setVisible(true);

for(int i-8; i<4; i++) getTimeKeepingPane().getCursorlabel()[1].setVisible(false);

break;
case 1:

getTimeKeepingPane().getCursorlabel()[4].setVisible(true);

for(int i=0; 1<6; i++){
if(i 1= 4) getTimeKeepingPane().getCursorlabel()[i].setVisible(false);
}
break;
case 5:

getTimeKeepingPane().getCursorlabel()[@].setVisible(true);

for(int i=1; i<6; i++)getTimeKeepingPane() . getCursorlabel()[i].setVisible(false);

break;
case 6:

getTimeKeepingPane() .getCursorLabel()[5]. setVisible(true);

for(int i-0; i<4; i++) getTimeKeepingPane().getCursorlabel()[1].setVisible(false);

break;

This case's code block is the same as the block for the case on line 1019. Why is this an issue?
@ Code Smell» @ Majorv O Open v ZEEA| %S v 10minefort THE

132 « L1054 %
W Notags v

63[.“]3%’[4 1054->1019 ,1060->1029

\
. ¢
q

Ny

switch(timeCursor){

case 8:

case 6:
getTimeKeepingPane().getCursorLabel()[5].setVisible(true);
for(int i=8; i<4; i++) getTimeKeepingPane().getCursorlabel()[i].setVisible(false);
break;

case 1:
getTimeKeepingPane().getCursorLlabel()[4].setVisible(true);
for{int i=0; i<6; i++){

if(i != 4) getTimeKeepingPane().getCursorLabel()[i].setVisible(false);

}
break;

case 2:

case 7:

getTimeKeepingPane().getCursorlabel()[3].setVisible(true);

for({int i=8; i<6; i++){
if(i != 3) getTimeKeepingPane().getCursorlabel()[i].setVisible(false);
}
break;
case 3:

getTimeKeepingPane().getCursorlabel()[2].setVisible(true);

for({int i=8; i<6; i++){
if(i != 2) getTimeKeepingPane().getCursorLabel()[i].setVisible(false);
}
hreakﬂ
case 4:

getTimeKeepingPane().getCursorlabel()[1].setVisible(true);

for({int i=8; i<6; i++){
if(i != 1) getTimeKeepingPane().getCursorLabel()[i].setVisible(false);
}
break;
case 5@

getTimeKeepingPane().getCursorlabel()[@].setVisible(true);
for(int i=1; i<6; i++)getTimeKeepingPane().getCursorLabel()[i].setVisible(false);

break;




CO d e SI I l eI I 3 . 4 This line will not be executed in aloop; only the first line of this 2-line block will be. The rest will execute only once

Fiset cursor imoge &8 choose wisible cursor
for{int 1=0; 1<2; i++) getCcPane().getCursorLabel()[i].setlcon{cursorsmalllmg);
if(calorieCursor){

getCcPane().getCursorLabel () [@].setVisible(true);

.setVisible(false);

getCcPane().getCursorLabel () [@].5etVisible(false);

f/set cursor image && choose visible cursor
for(int i=8; i<2; i++){
getCcPane().getCursorLabel()[i].setIcon(cursorSmallImg);

if{calorieCursor){
getlcPane().getCursorLabel()[@].setVisible(true);
getCcPane().getCursorLabel()[1].setVisible(false);

telse{
getlcPane().getCursorLabel()[@].setVisible(false);
getlcPane().getCursorLabel()[1].setVisible(true);

}

Nl
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CO d e Sm el I 3 . 5 Either remove or fill this block of code

3.5 Either remove or fill this block of code

dayun AdminC|(7F) 2 A7 B0 =7HE.

HHEf: Mt
FH=g ==
CEL =
43

catch(InterruptedException ){} 0| 225 Error logS Error?| 24 T 22 =0 2 B =7}

LN tryq{
} catch (InterruptedException ) { Thread.sleep( milis 1088);

- _ ) o ox } catch(InterruptedException e){
Either re-interrupt this method or rethrow the “InterruptedException”. Wy s this an issue? 162 H v 169 G System.out.println("Sleep interrupted”):

= i OO 22 i .
¥¥ Bug @ Major O Open ZZHA 22 15min effor W Noiags e.printStackTrace();
[Thread.currentThread() .interrupt();

v

}

-
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Code Smell 3.6 Remove this unused method parameter "flag

-———— T ] - - T ==y op

Remove this unused method parameter "flag”. Why is this an issue? 122 f » 186 S
& Code Smell @ Major O Open EZIX EE 5min effort W Mo tags

0l M =2 parameterE ®A|otl R E LE= BHEUS
startCalorieCheck = true -> startCalorieCheck = flag

b

CaloneCheck java 86

\vvv\
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Update this method so that its implementation is not
Code Smell 3.7 identical to "getCursor” on line 91.

public boolean n getCursor( ) {return cursor;}

pudblic void setCursor(boclean cursor){this.cursor=cursor;)

public void changeCursor() {

cursor = lcursor;

public boolean isCursor() { return cursor;}
Update this method so that its implementation is not identical to "getCursor” on line 91. 7EHY L103 S
Why 15 ths an s5ue?
@ Code Smeliv @ Majore O Openw USEIX BB » 15mineffort ZUE W Notags «

getCursor()2} isCursor()7t & &%t 7|52 M E
getCursor()E AHA| St isCursor() 2 & Y

AR
Ny




Code Smell 3.8

AR

INIR

N Y

38

(]

%]

Remove this unused private field.

MESHA| g B X127

ModeManager.java 50,57,

StopWalch.java 32

private

int isl1@@ms

0;

XE #70

3.8 Remove this unused private field

dayun Admin0|(7r) 2 642t TO| 712 LE Of5t H0| $TE.

e 4z
2H#9: ==
RS -
EE

AEOHA| B P RIR7|

StopWatch.java 32

0/% || Notes.

SoftwareMa SoftwareMAQ| (7H) 22 0|3t Hdf #2
dayun Admin2| %2:
AEHT FE HF AL

StopWatch.java 32

g RSB

NEAZ
24273
LES

N

1

]

4 BE w NHEI
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Code Smell 3.9 ﬁcir:ucz'\g this useless assignment to local variable

public woid makeThread({){
Tick task = new Tick(this);
Executorservice service = Executors.newFixedThreadPool(2);
Future<Void> future = service.submit{task);

Remove this useless assignment to local variable “future”. Why is this an issue? 16 T = LT7T %
@ Code Smell @ Major O Open EZIE| E2 15min effort W Mo tags
H

future.get()= StAl =™ blockingO| £l A A|AEIO|
makeThread()Ol| Al H A =IC}

2tF erot= 0| SELt

fﬂ!
\vvv




Code Smell 3.10

((Alare) modes[1]).savedlarm();
isEditMode = IisEditMode;
]

else if(Button «« @) //Mode @ Cursor B&
((Alars)modes[1]).changeCursor();

o {{Alarn) modes[1]). saveAlarn();
isEditMode = !isEditMode;

3
4

else if(Button == 1) { //djusc® FE(F 0 HE

This branch's code block is the same as the block for

the branch on line 199.

if(elapsedTime >« 5.0f) I //elopsedTimed 55 V&2 & HE D defoultScreenS ¥,

&1 defuoltScreenS £,

@ Codz Smell» @ Majorv O Openv FEEX| & » 10mineton TUE

This branch's code block is the same as the block for the branch on line 199. Why is this an ssue?

HEFe 1208 %
© Notags »

iu flEVLLUID LauH

199 if(elapsedTine >= 5.0f) {
200 ((Alarn) modes[1]).saveAlarn();
261 1sEditfode = !isEditMode;

J/elapspdTine o/ 5 0/

23 AH

—~

dayun Admin8 Gi2:

if(elapsedTine >= 5.0f) [EB{ /felopsedTimel) 5 082 O HEID defoultScreenSE

((Alare) modes[1]).savedlars();
dsEdithode = |1sEdithade;

)

else if(Button == 8)  //Mode : Cursor @&
((Alarm)mades[1]) . changeCursor();

alse if(Button == 1) {_//idjust @ E5F O TH83D defuolticreenS s

(Alars) modes[1]). savedlars();
isEditMode = |{sEdithode:

This branch’s code block is the same as the block for the branch on line 199, Wiy s this an ssve?
@ Code Smell » @ Majorv O Open» FEEX &F» 10minefion THE

NP L1208 %
% Notags =

Z'2 code block
ModeManager.java 208

S5 IE R

case 1:// Y8 2L 2
if(isFdithode)

[[button 1254

if(Button == 8)  //hode : Cursor 2
((Avamn)nodes(1]) . changeCursor();




CO d e Sm el I 3 . 11 Remove this expression which always evaluates to "true"

ime.minusNanos (10000000 ;

if( [B tpauseTimerflag)

Remove this expi ion which always to "true” Why is this an issue? 162 Hv L138 B

@ Code Smell» @ Major» O Openv EEHEIX 28 v 10minefor THE @ Notags v

Line 1318 &= 3%, 1382 £X True

otel of LE If 2 XA

/ﬁAA
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